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6. Vlastni cisla a vlastni vektory matice

Priklad 6.1. Najdéte vlastni ¢isla a vlastni vektory matice:

2 1 1 2 1 -3 1 0 3
ol-1 2 -1/, d (3 —2 -3/, e [2 1 2],
1 -1 2 1 1 =2 301
1 10 3 -1 4 3 3 2 4
f) |2 1 2], g [-2 5 3], h) (2 0 2],
3 10 1 2 —4 -2 4 2 3
0 —2 —2 2 21
l-1 1 2], 1 3 1],
-1 -1 2 1 2 2
Vysledek:
AN o= 1,(—s,0,2)T A o= 1,(2s,8,8)7
A A = 2,(tt,—t)T  st,uecR d) X = —1,(t0,-t) s tucR
A3 = 3,(0,—u,u)” A3 = =2, (u,—u,u)T
A o= —2,(s,0,—8)T A = —2,(—s,0,8)7T
e) a = 1,(0,t,0)T s,t,u €R f) A2 = 9, (2t,t,2t)T s,t,u €R
A3 = 4, (3u,4u,3u)T A3 = —4,(5u, —4u,5u)T
) A o= 0,(s,s—s5)T h) A1 = 8,(2s,5,2s)7
5 A3 = 1,2u+3tu,2t)7 s tuelR Aoz = —1,(u,2t,—u—t)T s tueR
i) A o= —1,(8s,s5,3s)T ) M = 5,(s,587
Aos = 2,(—t,t,007 s teR Vs = L(—2u—tut)yl s tucR
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